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QUESTION 1

A routing policy administrator needs to create a policy that enables Session Manager to route to different destination
based on different conditions. Time of day is one such condition. Which two Parameters may also be used by Session
Manager when selecting the applicable routing policy? (Choose two.) 

A. the location of the calling party 

B. the registration state of the destination 

C. the SIP domain of the called party 

D. the origination or termination application sequences that will be applied to call, ignoring what the applications
themselves may do 

Correct Answer: AC 

 

QUESTION 2

What three pieces of information are required to be entered for the Session Manager to be installed and synchronized
with System Manager? (Choose three.) 

A. System Manager IP Address 

B. Session Manager Security Module Address 

C. System Manager FQDN 

D. DNS Server Address 

E. Enrollment Password 

Correct Answer: ACE 

 

QUESTION 3

What is validated when the Transport Layer Security (TLS) handshake and mutual TLS authentication is performed
between the SIP entity and Session Manager? 

A. entity link 

B. entity name 

C. domain 

D. certificate 

Correct Answer: D 
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QUESTION 4

A new Application Sequence has already been defined in the network. A technician has been asked to apply Application
Sequence to all incoming calls for all employees in the Berlin office. Which sequence describes the steps that should be
taken? 

A. Go to the User Management page and use the filter option to list only the users in the Berlin office-Select each user
from the filtered list and edit each user\\'s User Profile. Apply the new Application Sequence to the Terminating
Application Sequence for each user. 

B. Navigate to the Communication Profile Editor and use the filter option to list only the users in the Berlin location.
Select All. Select the new Application Sequence from the Terminating Application Sequence drop down box. 

C. Go to the list of Application Sequences and edit the new Application Sequence, adding the Berlin location to the list
of associated locations. 

D. Edit the Berlin Location to include the new Application Sequence as its Terminating Application Sequence. 

Correct Answer: B 

 

QUESTION 5

Session Manager has a routing policy that routes calls made to any number beginning with \\'100\\' to SIP Entity X.
However, \\'sip.-1001avaya.com\\' is the SIP communication profile address of user Y. User Y is not currently registered
(signed in) with Session Manager. What will happen if Session Manager receives a call addressed to
\\'sip.-1001avaya.com\\' and why? 

A. It depends on the time ranges of the policy. If the call is placed inside a defined time range for the policy, the call will
be routed to destination X. If not, then Session Manager will attempt to route the call to user Y. Since Y is not registered,
the call will timeout, and the call will fail. 

B. Since user Y is not currently registered, the call will be handled by the routing policy. If the call is placed during a time
range specified by the policy, then the call will be routed to destination 

X. If not, then the call will fail. 

C. Since the destination URI matches a communication profile SIP handle, Session Manager will not use the routing
policy in handling the call. The call will fail since user Y is not currently registered. 

D. Since the destination URI matches a routing policy dial pattern, Session Manager will give no consideration to the
user Y registration status. If the call is made during a time range for the policy, the policy will be applied and the can will
be routed to destination X. If not, then the original URI of \\'sip.-1001avaya.com\\' will be used as the destination to
which Session Manager will route the call. 

Correct Answer: C 
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